R DFI %+ DB

In C:

void foo (int x, int y) {
return x + y;

}
BIlEE In OCaml: 2 2DEZ /DD 5, )
BN FNER kS let foo (x,y) = x + y in
foo (10,5)
BRI S GE DA 2 ==> 15
let foo xy =x +y in
foo 10 5
==> 15

BIlsER (RBRY: FHRRLFR) Hif BRI S oMl 1/ BIlsER (BRY: NHRALFR)

EE DG % H DR 71 — LT 7B

FORA (SHBEBOMM) 2 T b8 LIFEX,

LAl(x7N) &2ioT, BHEDMEEZ1DIZELEDD 71 — At (currying): H—DEAZHE _DRRNIZTLHZ &,
71 —1t (uncurrying): BE_ORAZE—DRRITTSE I &,

let foo (x,y) = x + 7y ;;

let foo xy =x + y;;

(10,5) &1 2 DfH, ==> val foo : int -> int -> int = <fun>

2. mPERER S, foo 10;;

==> - : int -> int = <fun>
let fooxy=x+7y ;; (foo 10) 5;;

==> - : int = 15

foo 10 IZ 1 D DfH,
(foo 10) 5%, £7-, 1 DDA,
ZhiE, foo 10 5 L HWTHAL, (BFEMICB VT, fFlzEKT A%l foo DELIL, (int * int) -> int TERT,
Y. LS #EET 5, ) int -> (int -> int) 2725,
Blint -> (int -> int) (X, # int -> int -> int XU TH
5, (o >ZBLTIE FHlZ2ERLUEGE. A0 ofEEad 5, )
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1) — b E B DB AV —fbkDFed

FAT 2ACE, 51EE BRITAEANIE I, R RS & A D TICEROS R b OMBMNKETE 3,
1et fOO X y Z =X + y + Z 1n %E%{iﬁ%gﬁs‘@l‘\o 70D 7“3L\73§%7’:’_EC: %mb\c:téo

(foo 1 2 3) * (foo 5 6 7) WA RE L AR B,

- NS e let add x y = x + y in
\ = a

HBEWE, TLAEARZMF>TEHENTH LW (FAL), let f = add 10 in
let foo’ = (f 5) * (f 20) * (f 6)

fun x -> fun y > fun z -> x + y + z in

(foo 1 2 3) * (foo 5 6 7) B/ v —Y vy 2 AERLUTUE S & EFEEIEW,

. * b S v (problem)
7272 U, D i TWde, BRI liZihb, o e

SROMENRE T DL, BB RS oroblem 1249 % 5L (% < DB 2 5 D MLFLR ).

let foo x yz=x+7y+ z;; BERCH F DML % IR > TW T, (MR Tl i) B s v —

(foo 1 2) ;; (x TT—7%L; B *)

Uy ERLZVWESIZLTWVWS, (e.g. OCaml WELRDEED 1 D
(foo 1 2) * (foo 56 7) ;; (x LT — %)

T3 Zinc Abstract Machine, FEHKFEER S8 DT F X + 2 S H)

ILET (LR ) MBS EOME 5/ BILET (LR )
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